a7 7 ivrmt PREEBHEERE 2019411 A 19 H

FIBET (

) K4 ( )

il

M2 LT, 7vro2.0—5Ths.

DUToXED (XXX, YYY) 25t z:EY, OTH®,
EROTD S b, int 1 (|- EE) T, float 1T B - HEH]) TH3. F7-, float

¢ double D9 H, MENEHWEHENAEETH 2 DlE (float *[double) TH 3.
7u 5 I v ICBWT, int ® float I EDLEH O, for ¥ if DT u ST L
DHRNEEZ D=0 DHGEL (PRGEE - &A1) LR 2L, int a; L EWzE

TOEEYL ae, BEOBEBICAHM T B L 1x (PR - 30 1) &I 5.
BOBRLZITBU oL —T7 DA 2 & ZICHW B FHIEEIT (continue break]) TH 3.
CEBDIEHET 4 7 7 VB D sin O[O HAIZ (HE - |7V T V) TH?.

B o CEE L 2 Z8L, OB oEE (7272 ATES - |7 72 ATER).

#include < stdio.h [
#include < math.h >
printf("Hello world| ¥n |">;
printf("answer is [ %d |", 1);
printf("answer is | %3f |", £f);

scanf("[ 3d ", [& 1);

for([i = 0 ;[ i < 10 [;[ i++ ]) {
for([i =9 [;[ i >= 0 ;[ i--1]) {
if(a[==] b) {

if(a[!=] b) {

if(a > 0[&&]b > 0) {
if(a>0[[[]b > 0) {
a[+=]2;

[int ] funcl([int x |);

func2 ([ void J);
while([1]) {
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includ dio.h
#include < stdio > JE (L of)) | g
int main(void) {
int i, 3J; 0 (1)
scanf("[ %3d |", [& Ji); 1 (1)(2) [a]
if(i < 3) ¢
printf("(1)"); 2 (1) (2) [0]
}
if(i % 3 1= 0) {
printf("(2)"); 3 (3)[0][2]
}
else if(i % 2 == 1) { 4 (2) [0] [2]
printf("(3)");
} 5 (2)[0] [2] [4]
for(j = 0; j < i; j+=2) {
printf("[%d]", J); 6 [0] [2] [4]
}
} return 0; 7 (2)[0]1[2]1[4]16]
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#include <[ stdio.h b ,
AJE (L of) | Hii#ER
func(| int x, int vy |);
0 0
int main(void) {
int (i, j, k |; 1 1
scanf("[8d ]", [& Ji); 2 2
j =19 3;
k =1 % 5; 3 0
printf("[ 3d |", func(j, k));
return 0; 4 1
}
. . . 5 0
int func(int x, int y) {
if(x < vy) 6 0
return Xx;
return y;
) Y 7 1




